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16) What is the molar volume of any gas at STP? (How many liters of gas are in one mole of gas at STP?)
I I - ‘Y) ,f/ (2 c-yTh(nit?! cc..

17) A solution of NaCI has a molarity of 0.549 M. How many moles are In 350. ml of this solution? NOTE:Molarity is MOLES per LITER. The volume in milliliters must be converted to Liters.

.?ct/r5’flrrwl
• 1Q2 ,-nol pJCJ

( It..

18. Which of the following is NOT an empirical formula?
a. Na2504 C. Sn(P0
b.C6H5CI jNzH4

19. The chemical formula of aspirin isC9H5O.. What is the mass of 0.200 mol of aspirin?

3(oOce C?hIsCh1

20. How many moles of 503 are In 2.4 x lO molecules of 503?

2.41JL10n?oiccj_irnat
— : rylvl SC

CQ1O’

21. What is the volume in liters of 2.50 moles of carbon monoxide at STP?

Lrs’$rr.3l C012.2.’?L-I —.•

22) How many water molecules are In 127.3 grams of water (HO)?

Ii2Z3etIIzClJjnnlfroz<aPOUSrviotec
:/ .25S ..1r.J1” 1)20

Ii(s0171 Inlet

23) Calculate the percentage composition of nitric acid (HNO3).
1.01

p r• t. 1. 4

‘ •: -. ‘i. :j1’ —-—i’—:? L ..

i.:’

— .3..

24) Calculate the mas&jfeIc&ntage of water in Cod2.6 H0.

.iL5*L. ‘I.I% IG()zi. —
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25) Answer the following question.

a. A compound is composed of 54.05% Ca, 43.24% 0, 2.71% H. Find the empirical formula.

I

11
.._.

,.,

... .

b, If the substance from Part (a) has a molecular formula mass of 222 g/mol, find its molecular
formula

26) In a chemical reaction, the mass of the products:
a. is less than the mass of the reactants,
b. is greater than the mass of the reactants.
c. is equal to the mass of the reactants.
d. has no relationship to the mass of the reactants.

27) How many liters of oxygen are required to react completely with 1 .2 liters of hydrogen to form
water?

2H2(g) + 02(g) — 2H20()
.

al2L c24L --

1b.O.6L d.4.8L

28) The amount of product formed when a reaction is carried out in the laboratory is called:
a•. theoretical yi..eId c. percent yield
b. excess reagent 1a%••ctual yield

29)A reaction that has been calculated to produce 600 g of CuCi
produced 50.0 g of CuCI2 when performed in the lab.. Wha.t i•s the percent •.i.etd?

a 0 833% 83 3%
b. 96iu d. 120%

30) In any chemical reaction, what is conser.ed?
a. the. number of m•oles
b. the number of molecules
C.. mass

‘volume

31 In the react’onN 3H NH bat s the mole rat of mtrogen th ammonta
a. 1:1 c1:2
b. 1:3

:..

, 2:3


